THE THREE-PART SYLLOGISM
For Inferential Valid Cognition

. C
is B because
. . . Reason
Subject Predicate itis
Example: A =B because B=Cand A=C
Potential Faults: A#CorB#C
SUBJECT PREDICATE REASON Types of Reasons
la. Sound is Impermanent because it is Compounded
Ib. Self is Empty because it is Compounded & impermanent Nature
Ic. Dharmas are Empty because they are  Neither one nor many
Dependently arisen
2a. Deer Live here because There are deer droppings
Effect
2b. Fire is On the mountain because there is Smoke on the mountain
3a. Children of Do not exist because Barren women do not
barren women have children Non- )
Observation
3b. Horn of a hare Does not exist ~ because Hares do not have horns
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